| 207 1 B0\ s YRR
(525) 4888
Printed Pages—4] 3M.Sc.(MR)3/CCC9
Master of Science (MR) (Third Semester) (CBCS)
Examination, Dec. 2018/Jan. 2019

ADVANCED STATISTICS AND SPSS
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Instructions :
1. The Question Paper is divided in five Units. Each unit carries an internal
choice.

2. Attempt one question from each Unit. Thus attempt five questions in all.

3. All questions carry equal marks.

4. Assume suitable data wherever necessary.
5. English version should be deemed to be correct in case of any anomaly in
translation.

6. Candidate should write his/her Roll Number at the prescribed space on the

question paper.
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s I/(Unit 1)

T FH HER 40 H UF THA, HeEE" ONE FH, AR = 0.682, A @
B @ AEEl F Wedsy Uie p & fog fag ommm #m @MW ? p & fo@ 95%
sTefava™ Saua w1 Fmo wifsE 10

A sample of two variables of size 40, produces a correlation coefficient of
r = 0.682. What is the point estimate for the population correlation coefficient,

p ? Construct a 95% confidence interval for p.
3rgar/(Or)

Ty fF feafafe wes@y w0 @ w@ § .
(31) EFHEF F THHSD
(@) Yax a R-faw
Explain what do the following correlations indicate :
(a) Positive Vs Negative
(b) Linear Vs Non-Linear.

g IV/(Unit II)
‘ggeg & wWX F ifma w@ ¥ 2 uftoim w wmem & faw ozt wn

Hgedl § 2 10

What do the Levels of significance indicate ? Why are they important for

interpretation of result ?
AT/ (Or)

TF SHferd ISifeR o SR Hidl W WY i e T e W S=H e
qE T B TEH BAREGE qfom w1 fre oseum § wfesmemit wt
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So ardtas fadt w1 o @ 9w g

50-%ad Ufgdl & WY, 41-%Hael Wi & WY W 85-THl B WY

"FE-TERR TR H YAN e GEIUE it fR o, arafos qftomsl iR getgEid
ofores # wwew €2 10

A genetics engineer was attempting to cross a tiger and a cheetah. She predicted
a phenotypic outcome of the traits she was observing to be in the following

ratio :
4-stripes only, 3-spots only, 9-both stripes and spots.

When the cross was performed and she counted the individuals she found
50 with stripes only, 41 with spots only and 85 with both. conduct the chi-
square test, to testify if she got the predicted outcome ?

g3 III/(Unit IID)
WHTETE H AgE w1 ST FH a9 AR Sigel @ We # g 2 10
What is the importance of summary statistics using frequencies in SPSS ?
314/ (Or)
IR |ETH F WY U T A9 @ W iR AN W ¥ ¥ gHemEy |

Clearly explain the advantages and disadvantages of ‘Post Hoe Measurement’

with suitable examples.

e IV/(Unit IV)
‘ha favawer’ @ e wn oafwum ® 2 3w fafa # wer el e
=T 2
What do you mean by Factor Analysis ? What are the advantages and limitations
of this method ?
UG/ (Or)
‘T AeH’ w sEEROT SR STAfTr w1 fewm § wwemRUl

Explain in detail the concept and utility of ‘Cronbach’s Alpha’.
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5. fTrafafes weR & ‘wEifvew fovR’ W og&w # == wiNT 10
(1) A
(@) gftsis
(") =G

Briefly discuss the following types of Multiple Regression :
(a) Simple
(b) Hierarchical
(c) Stepwise
1@t/ (Or)

my g3 foem gma ‘foya fagoom’ &1 SY9M #@ & HEe AR uRond

T T ?

What are the advantages and assumptions of using Regression Analysis while

writing a research paper ?
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